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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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"Topt’], ['RH', 'RHopt'], ['ETcl’, 'optETcl’], 'LAI', 'optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]

—&— ECO
6000

5000

4000

3000

2000 - Warning: col ['FVOEC'] is missing

5 10 15 20 25 30



Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-1_0
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08:15 200 100.0 2.16 |Z=| {Ri%e08:15 Bzl (KREEZERSE)
09:15 200 100.0 2.16 |Z=| {Ri%e09:15 Bz (REAZBE)
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13:10 200 100.0 2.16 FE| 1BRi&@13:10 Bzh (GRAEREE)
14:50 200 100.0 2.16 FA| 1Bi&@14:50 B3 (KRAERSE)
=3t| 1400.0 (70%) 700.0 EGHKEC: 2250, PH: 6.4

EREBRIERLLFRAK (0.59 vs 0.53)), AIREE ZREIEREEIRK

2RI\ EPRERE100. 0 ml.

large discrepency for begining water status (381:192.0), set to 381 ml.

MEXFEREH AR E, i R &RPH2 546.5,9.9,6.5, WEKK
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REXEBPH (9.94) 5FMPH (6.5) fRELK, 1BHRT
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REE NS RFHIKREC 2250

.0

LERGERIEC (2750.0) S5#RAIEY (2250) RERK, BHEE.
EYGERPH (10.6) 5i8EE (6.5) REKK, FHE.
LORGEBIPH (10.6) S5HREVEN (6.4) RERK, BRE.
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G3-1

BYiE) | GEBIATIK () | EHME (EH/&) | EBRERE (/X)) | KR R

08:00 306 100.0 2.16 = {RRi8@08:00 B (FRFA{EEE)
09:00 306 100.0 2.16 = {RRi8009:00 Bz (RAKEE)
10:35 306 100.0 2.16 5| {Ri%@10:35 B3 (GRAERSE)
11:50 306 100.0 2.16 =l RRiB@11:50 Bz (RFAEESE)
13:10 306 100.0 2.16 =l RRiB013:10 Bz (REAKEE)
14:15 306 100.0 2.16 E| {Rige14:15 Bzh (GRE{ERSE)
15:25 306 100.0 2.16 E BRige15:25 Bz CGRAERESE)
16:45 306 100.0 2.16 =l RRiB016:45 Bz (REAKEE)
23t 2448.0 (8%) 800. 0 IHKEC: 2250, PH: 6.5

LRGEB R R IR IER 32N (306 vs 192.0))

BRIASLPRIERE159. 0 ml.
MERFEREH B9IE S, i &3 &PHA B 46.5,10.3,6.5, REKX
REREERIPH (10.35) 5iZZEPH (6.5) REK K, HHRE
BEXREBIPH (10.35) 5FMPH (6.5) REK K, HRE

REE NS K RPH 6.5

FH[EKECE (2607.0 vs 3643.0) RS
FRAVE Y S K FHREC 2250. 0
LORGEBIPH (10.2) 5i1&EE (6.5) WERK, BRE.
LEORGEREPH (10.2) S5iRBE (6.5) REK K, HEE.
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